714 A x|

=
QA EBK|/ QA B

=
E

oleiA B QI Al (2Ixl M%) 2oiE 9I3H ALSE.

E g o e
£ -
: =i LtAb Zlolis QIEiA ERXY(EH 22120)8 B2
' . AR B E Yoz WY 4 UL}
= . AEIBA AEI1.4305
o g we
==
- 28, Batxigl az
- AEEIA ARI1.4305 LR =2 £zro| 2ol 27ts
Aol HIHES EWE 7.
. BolAS|PAG, HeM, 21 27t AIE
- 2% E5, CIO|-FHAE, QI-lA Z&X{Q}
olx 2E 8
- 9Ix| 24l QISlA ZEO} QIHA EHX 8
.- B7H 3, QA BKS
a3
ds |
| T |
o d
T |
() ! s -
pu- 2
TR an
== 1
oF —
- )] « &
X
1 CEIEE ,
= 22120.0115 - .0120 (A&l
I iyl 22120.0515 - .0520 (AEIB|A AE)
w d2
a8 a8 2
FEFHE
R|%= ws Azl & [ 1]
d; d, d; | d, I I, Is ls Is Ie Fq F, | #a | ozl
-0,02 = kN kNS = =
-0,05
[mm] [mm] [N] [°C] [a]
£xol g -ad1, 28
5 M10 x 1 21 | - 45,0 5 | 17 5 | - | 15 | 12 6,0 14 | =30 80 19 | 22120.0005
6 M12x 1,5 25 - 54,5 6 20 6 - 17 14 6,5 19 -30 80 29 22120.0006
8 M16 x 1,5 31 - 69,0 8 26 8 - 23 19 11,5 28 -30 80 71 22120.0008
10 M20 x 1,5 31| - 80,0 10 | 33 | 10 | - | 30 | 22 23,0 54 | -30 80 119 | 22120.0010
£zolglg-ad 2 A8
5 M10 x 1 - M5 - 5 17 5 6 15 12 6,0 14 - 250 14 22120.0025
6 M12x 1,5 - M6 - 6 20 6 10 17 14 6,5 19 - 250 23 22120.0026
8 M16x 1,5 - | ™8 - 8 | 26 8 | 12 | 23 | 19 11,5 28 - 250 54 | 22120.0028
10 M20 x 1,5 - M8 - 10 33 10 12 30 22 23,0 54 - 250 97 22120.0030
£xo| AS - a7 1, 2H2E|A AR
5 M10 x 1 21 - 45,0 5 17 5 - 15 12 6,0 14 -30 80 19 22120.0405
6 M12x 1,5 25 - 54,5 6 20 6 - 17 14 6,5 19 -30 80 29 22120.0406
8 M16x 1,5 31 | - 69,0 8 | 26 8 | - | 23 | 19 115 28 | -30 80 71 | 22120.0408
10 M20 x 1,5 31 - 80,0 10 33 10 - 30 22 23,0 54 -30 80 119 22120.0410
VEHN BESRIY
50|X| 1 ~2| 2

NHALDER

IHAl: 27.7.2024


http://halder.com/kr/22120.0005
http://halder.com/kr/22120.0006
http://halder.com/kr/22120.0008
http://halder.com/kr/22120.0010
http://halder.com/kr/22120.0025
http://halder.com/kr/22120.0026
http://halder.com/kr/22120.0028
http://halder.com/kr/22120.0030
http://halder.com/kr/22120.0405
http://halder.com/kr/22120.0406
http://halder.com/kr/22120.0408
http://halder.com/kr/22120.0410

AV R=U N R -
QleiA BRI/ QA BE
%l WS Az @ i ME #H=s.
dq d, d; | d, I I, Iy le Is le F, F, | #l& | oy
20,02 - EIPS EIPS - -
20,05
[mm] [mm] [N] [°C] [g]
&%ho| gig - a8l 2, AH|CIE|A AR
5 M10 x 1 - M5 - 5 17 5 6 15 12 6,0 14 - 250 14 22120.0425
6 | Mi2x15 ~ M6 - 6 | 20 | 6 | 10 | 17 | 14 65 | 19 - 250 23 | 22120.0426
8 M16 x 1,5 - M8 - 8 26 8 12 23 19 11,5 28 - 250 54 22120.0428
10 M20x 1,5 - M8 - 10 33 10 12 30 22 23,0 54 - 250 97 22120.0430
VEH A TR
H A ME|
x| x| AbO|= i
d;
[mm] [mm] [a]
2t L{E I1SO 8675 (DIN 439), A%l
M10 x 1 16 52 22120.0115
M12 x 1,5 18 75 22120.0116
M16 x 1,5 24 15,0 22120.0118
M20 x 1,5 30 32,0 22120.0120
2} L{E ISO 8675 (DIN 439), AE|IE|A AEI
M10x 1 16 5,2 22120.0515
@ M12x 1,5 18 75 22120.0516
M16 x 1,5 24 15,0 22120.0518
\‘ M20 x 1,5 30 32,0 22120.0520
=HE of
| |
\«/ /// / / T/ 7771
T ESs
AME AE &4 HEE Eo{H 25lE 25 HSE MEISAAIR
H0|x| 2 ~2| 2

tNHALDER

IHAl: 27.7.2024


http://halder.com/kr/22120.0425
http://halder.com/kr/22120.0426
http://halder.com/kr/22120.0428
http://halder.com/kr/22120.0430
http://halder.com/kr/22120.0115
http://halder.com/kr/22120.0116
http://halder.com/kr/22120.0118
http://halder.com/kr/22120.0120
http://halder.com/kr/22120.0515
http://halder.com/kr/22120.0516
http://halder.com/kr/22120.0518
http://halder.com/kr/22120.0520

